«Macajara»

KATAJIOT 3AITYACTEN
PEBEPCUBHAS BUBPOILJIUTA
MS125/MSH160/MSH160E

MSH160E-1

MS125-4



Crucok geraneii 1, MS125, MSH160 u MSH160E




CIIMCOK JIETAJIEH 1, MS125, MSH160 1 MSH160E

Ne Ne neranu Onucanue K];)(J)I_
1 3001000-1 Omnopnast ruurta B coope 11t MSH160 1
3001000-2 Omnopnast rumra B coope 11t MSH160E 1
3001000-3 OmnopHas mTa B coope it MS125 1
2 3002000 Bubparmonnstit kopnyc aiust MSH160 u MSH160E 1
3002000-2 Bubpanumonnsrit kopryc mist MS125 1
3 0700018-45 bont M18 x 45-GB70 4
4 0970018 [ait6a 18-GB97 4
5 0930018 ITpyxunHas maiida 18-GB93 4

VYcranoBouHas muta asurarens ais MSH160 u

6 3003000 MSHLOOE A A 1
3003000-2 VYcranoBouHas minTa asurarteiisa 11 MS125 1
7 3004000 PerynupoBounas riura 4
8 0410012 laiika 12-GB41 4
9 0970012 [ITait6a 12-GB97.1 4
10 0930012 [Tpyxunnas maitdba 12-GB93 4
11 3005000 Pama B cbope 1
12 0700012 bont M12 x 20-GB70 4
13 0930012 [Ipyxxunnas maiida 12-GB93 4
14 3000001-1 Jln3enbHbIN qBUraTelb 1
3000001-2 JBurarenp «XoHaa» 1
3000001-3 JlBuraTtens «PoOuH 1
15 0700010 boatr M10 x 30-GB70 4
16 0930010 [Tpyxunnas maitdba 10-GB93 4
17 0970010 [ait6a 10-GB97.1 4
18 3006000 PykosTka B coope st MSH160 u MSH160E 1
3006000-2 Pykositka B coope miist MS125 1
20 3007000 Koxyx peMeHHOIl nepegaun 1
21 3008000-1 [IxuB OU3€IbHOT0 IBUTATEI 1
3008000-2 IIxuB aBuUraTensa «XoHma» 1
3008000-3 [lIxuB nBuraremns: «PoOun» 1
22 0700006 Bbont M6 x 15-GB70 4
23 0930006 [Tpyxunnas maitdba 6-GB93 4
24 0970006 ITaii6a 6-GB97.1 4
25 0700008-20 Bont M8 x 20-GB70 1
26 0930008 [Tpyxunnas maitdba 8-GB93 1
27 0970008 Haii6a 8-GB97.1 1
28 0700008-20 boat M8 x 20-GB70 1
29 3009000 [Tpyxxuna 1
30 3010000 KoHTaKkTHBIN pOJIMK 1
31 3011000-1 KinHoBuIHBIN peMeHb I TU3EeTbHOTO JBUTATEIS IS 1

MSH160 u MSH160E




KHHHOBHHHBIﬁ PEMCHD IJIA OCH3MHOBOIO JABUTATCIIA JJIsA

3011000-2 MSH160 u MSH160E

3011000-3 KimnHOBWIHEIN peMeHb i1t OCH3MHOBOTO ABUTATEIIS JIJIS
MS125

3011000-4 KiaoBuIHEIN peMeHb 111 OEH3MHOBOTO JIBUTATENS JJIS

MS125




CIIMCOK JIETAJIENA MS125, MSH160 1 MSH160E

Ne Ne neranu Onucanue Koi-
BO

32 3001001-1 | Onopuas muta ais MSH160 1
3001001-2 Onopuxas miura st MSH160E 1
3001001-3 | OnopHas muta aus MS125 1

33 3001002 I"acutens BuOparmii 4
34 0970012 [Ilaii6a 12-GB97 4
35 0617012 I"atixa M12-GB6170 4
36 3001003 ﬁ;glldgggnbﬁaﬂ IacTHHA (TOJIBKO 5
37 0970020 [ITait6a -GB97 (tonsko MSH160E) 6

[Ipyxuanas maiib6a -GB93 (Toibko

38 0930020 | £ 60E) ( 6
39 0578020 bont M20X45-GB5783 (tonmsko MSH160E) 6




Crucok nmeraneii 3, MS125, MSH160 u MSH160E




CIIMCOK JIETAJIEH 3, MS125, MSH160 1 MSH160E

Ne Ne neranu Onucanue Komn-Bo
40 3002001 Kopo6xka Bo30yxaerust 1t MSH160 u MSH160E 1
3002001-2 Kopo6ka Bo30yxaenust s MS125 1
41 3002002 Kppimka kopobku 1
42 0700008-25 bonr M8 x 25-GB70 9
43 0930008 [Ipyxunnas maitdba 8-GB93 30
44 0119008 bonr maneia 8-GB119 2
45 0283006 IMoamunuuk 32206-GB283 2
46 0987752 Macnsnoe ymiotaenune $ 52 x § 28 x 7-GB9877.1 1
47 3002003 Kppliiika noammnHuka 1
48 0700008-20 Bonr M8 x 20-GB70 12
49 3002004 [xuB 1
50 3002005 [ITaii6a 1
51 0109608 Kitou C20 x 8-GB1096 1
52 0578308 Bbonr M8 x 20-GB5783 1
53 3002006 Kpsbimika noammumnauka 2
54 0276006 [Moammmnauk 60206-GB276 2
55 3002007 ﬁggolpg)% ;(J'II/IHOBOI/I 3axuM (tonbko MSH160 u 1
56 3002008 Bbont M20 (tonsxko MSH160 u MSH160E) 1
57 3002009 bonr (toneko MSH160 1 MSH160E) 1
58 0854010 [ait6a 10-GB854 (Toasko MSH160 u MSH160E) 10
59 0617010 I"aiika M10-GB6170 (tombko MSH160 1 MSH160E) 1
60 0910003 nnuar $ 2.5 x 20-GB91 (tonmsko MSH160 u 1
MSHI160E)
61 3002010 HInuapens mist MSH160 1 MSH160E 1
3002010-2 Inuapens qns MS125 1
62 3002011 bamancuposounsiii Bec 11t MSH160 1 MSH160E 1
3002011-2 banancupoBounslii Bec 1yist MS125 1
63 0894040 Cronopnoe konbiio 40-GB894 2
64 3002012 MydTa B cOope 1
65 3002013 Hanpasaistromuit mrudt 1
66 0730008 Bbonr M8 x 25 1
67 3002014 [Inuanens 1
68 3002015 Hanpasinsromuii kopiyc 1
69 3002016 [ToBOopoTHas KpbIlIKa 1
70 3002017 [ITaii6a 1
71 0930005 [Ipyxunnas maitdba 5-GB93 4




72 0700005 Bbonar M5 X 15-GB70 4
73 3002018 HImuanens 1
74 3002019 Kpsbinika ocHoBanus 1
75 0345226 YmnotHutenbHoe Koibio 25.8 X 2.65-GB3452.1 1
76 0578308 bontr M8 X 25-GB5783 2
77 3002020 Kpeimika ocHoBaHus 1
78 3002021 VYIUIOTHEHHE KPBILIKH 1
79 0700006 bonatr M6 X 18-GB70 3
80 0930006 [Ipyxxunnas maiida 6-GB93 3
81 0700008-30 Bboar M8 X 30-GB70 4
82 0578614 bonr M14 X 1.5 X 20-GB5786 1
83 3002022 [Ipokianka 1
84 0894042 Cronopnoe konbiio 42-GB894 3
85 3002023 IIpokiagka KpbIIKU 3
86 3002024 [lectepus 1
87 0109612 Kirou A12 X 20-GB1096 1
88 3002025 Pacniopka 1
&9 3002026 Bax xoneca gt MSH160 & MSH160E 1

3002026-2 Baix xoneca gt MS125 1
90 0109612 Kitou A12 X 50-GB1096 1
91 3002027 banancupoBounsiit Bec 1 MSH160 u MSH160E 1

3002027-2 banancupoBounslii Bec 1yist MS125 1
92 0578208 Bboar M8 X 15-GB5782 4
93 3002028 Koxyx pemHust 1
94 0276008 [Mogmmmuank 16008-GB276 2
95 3002012-1 Kopmryc mydTs1 2
96 3002012-2 [lecTepns 1
97 3002012-3 bonr 4
98 0617008 l"aiika M8-GB6170 4
99 0910002 muat $ 2X20-GB91 4
149 3002029 MacnsHoe yIioTHEHUE 1
150 3002030 Pacnopka 1
151 3002031 MacnsiHoe yrjaoTHEHHE 1
152 3002032 MacinsiHast yIoTHsiromas npokJiajaka 1




Fl

Crucoxk neraneii 4, MS125,
MSH160 u MSH160E

TEIAE MR INTRAE D W U DR I B PN TR kel




CIIMCOK JIETAJIEH 4, MS125, MSH160 1 MSH160E

Ne Ne peramu Onucanue K];)(J)I_
[Naiika M12 X 70 - GB5780 nst MSH160 u
105 0578012-70 MSH160E a 2
0578012-60 I"aitka M 12 X 60 - GB5780 nyist MS125 2
106 0950012 [aii6a 12 -GB95 2
107 3006010 Kosnbuo angs MSH160 u MSH160E 2
3006010-2 Koo ans MS125 2
108 3006012 Helinonosoe konpno ags MSH160 u MSH160E 2
3006012-2 Heiinonosoe xomapio mist MS125 2
109 3006400 I"acutens Bubparmii st MSH160 u MSH160E 2
3006400-2 l"acurens Bubpanmii myst MS125 2
110 0578008-30 ["aitka M8 X 30 - GB5780 4
111 0950008 [aii6a 8 - GB95 4
112 3006200 l"acurens Bubpanuit 1
113 3006300 Kpenexnas ckoba MSH160 u MSH160E 1
3006300-2 Kpenexnas ckoba MS125 1
114 0950012 [aii6a 12 - GB95 2
115 0578012-30 I"aitka M12 X 30 - GB5780 2
116 0617320 bonr M20 X 1.5 - GB6173 2
117 3006004 [tudt 1
118 3006005 ITpyxuHa 1
119 3006007 Pe3b00BOI cTEpKEHD 1
120 3006009 Harsarusatomasicst pykosiTka 1
121 0701006-40 ["aitka M6 X 40 - GB701 3
122 0859006 ITpyxunHas maiiba 6 - GB859 3
123 3006006 Prraar xona 1
124 0701008-30 lNaitka M8 X 30 - GB701 2
125 0950008 [ITait6a 8 - GB95 2
126 AR680805001 fg;z&;roig z;(%aBneHm JpOCCenupoOBaHUEM B cOope 1
127 0701008-30 l"aitka M8 X 30 - GB701 2
129 0950008 [ITaii0a 8 - GB95 2
130 3006500 Pykosrka gyt MSH160 u MSH160E |
3006500-2 Pykositka miis MS125 1
131 0701008-20 laiika M8 X 20 - GB701 (onmmonanbsHO) 1
132 0859006 [Ipyxunnas maii6a 6 - GB859 (onmonansHO) 1
133 3006601 3axuM (ONIMOHAJIBHO) 1
134 3006013 Kirou 1
143 3006014 PykosTtka 1
144 3006015 Kabens nns MSH160 u MSHI160E 1
3006015-2 Kabens myist MS125 1
145 3006016 Cronbuaras pe3nHa 1




146 0617010 ["atixa M10-GB6170
147 0854010 [aii6a 10-GB854
148 A3006017-1 Tpocuk apoccenbHOM 3aCIOHKH (OMIIMOHAIBHO)




